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PART A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet. 

41- Cheetahs are endangered animals. Only … of these animals have remained today.   
1) few 2) little 3) a few 4) a little     

42- How many … do you want to eat for breakfast? 
1) bread 2) piece of bread 3) loaf of bread 4) loaves of bread                       

43- A recent research shows that the deadly Coronavirus may … before the development of a vaccine. 
1) defend 2) disappear 3) surprise 4) protect 

44- This product is a safe and excellent natural protective that its economic … is higher than the other 
ones.

1) belief 2) price 3) region 4) value 
PART B: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 
on your answer sheet. 

For breakfast, English people often, have milk and sugar. They don’t eat …(45)… . They enjoy drinking 
strong tea with milk. At one o’clock, English people have lunch. Five o’clock tea is a national habit. 
English people have tea with biscuits, apple pie, fruit or fruit salad or sandwiches. At about seven or 
eight o’clock, they have dinner. It can be soup, sometimes …(46)… and vegetables, macaroni (pasta) 
and cheese. The English people drink …(47)… coffee. Tea is their favorite drink. 
45- 1) many breads  2) much bread 3) a few breads 4) a bread 
46- 1) meat  2) sugar 3) watermelon 4) juice 
47- 1) only a few  2) little 3) few 4) only little 
PART C: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 

Have you ever heard someone uses the phrase “once in a blue moon?” People use this expression to 
describe something that they do not do very often. For example, someone may say that they try to avoid 
eating sweets because they are unhealthy, but they eat chocolate once in a blue moon; or a person who 
does not usually like to go to the beach may say: “I visit the shore once in a blue moon.” While many 
people use this phrase, not everyone knows the meaning behind it.  
  The first thing to know is that the moon itself is never actually blue. This is just an expression. The 
phrase “blue moon” actually has to do with the shape of the moon, not the color.  
  As the moon travels around the earth, it appears to change shape. We associate certain names with 
certain shapes of the moon. For example, when we can see a small part of the moon, it is called a 
crescent moon. A crescent is a shape that looks like the tip of a fingernail. When we cannot see the moon 
at all, it is called a new moon. When we can see the entire moon, it is called a full moon. Usually, there is 
only one full moon every month. However, sometimes there will be two full moons in one month. When 
this happens, the second full moon is called a blue moon. 
  Over the next 20 years, there will be only fifteen blue moons. As you can see, a blue moon is a very rare 
event. This fact has led people to use the expression “once in a blue moon” to describe other very rare 
events in their lives. 

48- Based on the information in the passage, in which of the following sentences is the expression 
“once in a blue moon” used CORRECTLY?

1) Her best student frequently asks questions once in a blue moon. 
2) My sister lives in Alaska, so I only see her once in a blue moon.  
3) Accidents regularly occur on this bend once in a blue moon. 
4) The customer is always complaining once in a blue moon. 
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49- Which of the following sentences is TRUE based on the passage?
1) A blue moon is an expression that is rarely used in English. 
2) A blue moon happens when the sky is blue. 
3) A reappearance of a full moon in one month is called a blue moon. 
4) A crescent moon is bigger than a blue moon. 

50- The writer uses the sentence: “As you can see, a blue moon is a very rare event.” because she 
wants to … .

1) challenge a sentence that she has already made 
2) answer a question that she has asked before  
3) give an example of a point that she has made earlier in the passage 
4) support a conclusion that she is going to make  

PART D: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer 
sheet. 

51- She took … books with her while going on holiday, but she read only … of them during her stay. 
1) no – a few 2) many – a little 3) any – some 4) a lot of – a few 

52- In the first … months of life, an infant learns how to lift its head, how to smile, and how to 
recognize its parents. 

1) many 2) a lot 3) few 4) a lot of 
53- First of all, tourists should know to respect the … values of the countries they are visiting. 

1) strong 2) careful 3) cultural 4) endangered 
54- It is still a question for me to know how scientists … the height of a mountain. 

1) measure 2) describe 3) save 4) locate 
PART E: Cloze Test 
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice 
on your answer sheet. 

New words are born whenever they are needed. New words are being invented all the time. Some new 
words became …(55)… of a language just as “hello” does. That word was kept because it was so 
…(56)… . Other new words that aren’t so useful, may be forgotten soon. The world is changing all the 
time, so are words. In fact, every word has a …(57)… of story behind it, just as hello does. Each word is 
a puzzle. 
55- 1) part  2) type 3) history 4) stress 
56- 1) harmful  2) important 3) wonderful 4) painful 
57- 1) cycle  2) pair 3) site 4) kind 
PART F: Reading Comprehension 
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice 
on your answer sheet. 

The fact that a good teacher has the capacity of a good actor does not mean that he will actually be able 
to act well on the stage; for there are very important differences between the teacher’s work and the 
actor’s. The actor has to repeat exactly the same words each time he plays a certain part. What he has to 
do is to make all the carefully learned words and actions seem natural on the stage. 
 A good teacher works differently. His listeners take an active part in his play; they ask and answer 
questions, and obey orders. 
 The teacher, therefore, has to make his act suitable to the needs of his students. He cannot learn his 
part by heart like that of an actor. He must invent it as he / she goes on. 
58- When an actor is on the stage, he/she should … . 

1) be able to act like a teacher  2) consider the needs of his listeners 
3) invent something as he goes on 4) perform what is in the play 

59- The teacher’s listeners … . 
1) always understand him well  2) are active in his play 
3) help the teacher to play a role 4) make no response in the class 

60- The underlined word “capacity” in the first line is closest in meaning to … . 
1) ability 2) experience 3) function 4) role 
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1 (85      
2 (90    
3 (7/86      
4 (3/83    
137-  640(III  )     336         .     

  2CO             
156 40 16 12(Fe , Ca , O , C : g .mol )

2 3 22 3 4 3Fe O (s) C(s) Fe(s) CO (g)  
2 3CaO(s) CO (g) CaCO (s)  

1 (75- 52 52 10/    2 (80- 55 04 10/   

3 (75- 55 04 10/    4 (80- 52 52 10/   
138-     12402 3Fe O 60(II)             

Cu         ) 70      60(.   
164 56 32 16 12(Cu , Fe , S , O , C : g .mol )

1 (224 5 10/    2 (233 25 10/    

3 (245 21 10/    4 (242 35 10/    
139-  30   20 76/            .

140 16 12(Ca , O , C : g .mol )

3 2CaCO (s) CaO(s) CO (g)  
1 (70    2 (75    
3 (65    4 (80  
140-40    50    %75     %        .

     )     140 16 12(Ca , O , C : g .mol

  
3 2CaCO (s) CaO(s) CO (g)  

1 (15    2 (25    
3 (35    4 (45  
141-60 6/    80                 

)             1O 16 14 39, N , K : g .mol(

                                       
0500

3 2 2 2
T CKNO (s) K O(s) N (g) O (g)  

1 (92/25    2 (46/41    
3 (21/19    4 (68/34     
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142-    20     80      75     

1 ) O 16 56, Fe : g .mol(

(.    )2 3 2Na Fe O Na O Fe

1 (9/14    2 (4/8    

3 (1/12    4 (2/11      

143-         

  
  

y  (             .  

x   ( .           

z       ( .       

x    (           .  

1 (1    2 (2    

3 (3    4 (4    

144- 

1             ( .  

2   (                     

            .  

3 .                    (  

4                     (   .  
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145-                

…  (                  .  

        (….  

…              (  .  

1 (50         

2 (10      

3 (50         

4 (10      

146-    

1          ( .       

2     (195 .    

3    (              .  

4           (    .  

147-      

            (  .  

    (           .        

           ( .  

              (       .  

1 (1  2 (2  3 (3  4 (4   

148-    

1        (14 .        

21    (01 272 10/        .  

3 (   40 .    

4       ( .       

149-      …

1  ( .         

2   ( .                

3    (            .  

4    (40           .  

150-   

1   (                .     

2   (-  .            

3 (        .     

4    (             25/1    .  


